ERR UG EDORBECEOBE MK (EH29F4 A 1K)
TG R (—)

, ) =11 NE B oD ER B
| SR EEBBRCET T IR LI
(AN) | (%) 18 44 (AN) | CAN) | (%) E% P
13
14k | EEDBTS 24 |[16.44 =
®ETL 11 -
e = 49 | 3356 | REHK
24k | RE L X FENIBT 5B DTS 25 [17.12
®ETL 9
3k | EE DB 50 |34.25|F& 50 50 | 34.25| ¥F&EH
4R | EBXFFE RO 22 | 15.07 _IE? 21 22 | 15.07 |2E®ES
gEE 1
B 8
SEEEE 1
WEXFE 1
S 2
sE%K A \E‘I/\‘/sﬁ ~ 82 =
B \mE mEme. menxaERs| 2 |0 g 7| 24 | 1644 RER
E(BEENETLEHORBE —
HiEFT & 4
SanEs 1
FECKELVE—F 1
& 1
6k |SE DTS 1 068 (3% 1 068 | SEMHK
EEEAAE(—)
, ) At AER
S| SR EEBBERCRAE T AR LIRS
(N) | (%) B4 (AN)
1k (FHEEDTE
2% |EE DB
3} | ERDBTE
o o PEMME 1
AR |2 EFMEXIIBIZEMRE OB 2 100
3 g BIZHETE |




ERBRHER(C)

) ) &Et H
LR | SR EERBRICRE T HIEELL DA
(N) | (%) B4 (N)
14k | BEm DTS
2% | R EEZNIE T SEE DB
3 | EEDBTE 3 |4286|F#F 3
FE 1
A%R | 28, TEXTRBLEBENETIEE0BE| 3 42.86
T 2
58 |EREXIIBENR DB 1 | 1428 |HE R 1
EEEHAHE(Z)
) ) &Et N3
LR | SR EEBBRICRE T AEELL DA
(N) | (%) B4 (N)
1#% | HEFEED DB
2% |BHEMIEEEATEEMDBETE 8 | 47.06 |E{EAFHEER 8
3k |zEEuaRiEsrEBEAET sEEEERGORE | 6 | 35.20 | X {EE AR 6
AR |EHRE RELEBENETIEAERMOMS 2 11.77 |BERIET & 2
54k |EHEENR DS 1 5.88 |FHAE 1




